1640010 1
1640010 2
1640010 3
1640010 4
1640025 1
1640025 2
1640025 3
1640025 4
1640025 5
1640040 1
1640040 2
1640040 3
1640040 4
1640040 5
1640040 6
1640040 7
1640040 8
1640040 9
1640040 10
1640040 11
1640060 1
1640060 2




| 1640010 001
@ )
4
40 /
60 / 20
8,398 260 8,268 260 8,372 260
0 0 0 0 0 0
0 0 0 0 0 0
8,398 260 8,268 260 8,372 260
35,600 33,300 58.800
35,600 33,300 58,800
0 0 0
0 0 0
c 0 0 0
D =B+C 35,600 33,300 58,800
£ =AD 43,998 41,568 67,172
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 43,998 41,568 67,172




65 58 98

0 0 0

0.0% 0.0% 0.0%
676,892 716,690 685,429
82 64 121

65 58 98

224 147 278

166 150 218




| 1640010 002
30

3,779 117 3,721 117 3,767 117
0 0 0 0 0 0
0 0 0 0 0 0

3,779 117 3721 117 3,767 117

6,230 20,070 23.699

6,230 9,225 9,198

0 10,845 14,501
0 0 0
c 0 0 0
D =B+C 6,230 20,070 23,699
£ =AD 10,009 23,791 27,466
0 0 7,251

0 0 0

0 0 0

0 0 0

0 0 0

0 0 e

E 10,009 o 0 20,215




7 7 7

0 0 0

0.0% 0.0% 0.0%
1,429,871 3,398,657 2,887,914
30 30 30

29 43 43

61.7 63.5 61.4

63.5 61.4 55.1




| 1640010 003
30

3,779 117 3,721 117 2,512 78

4,985 484 4,909 486 4,909 486

089 206 1,030 206 1,066 205

9,753 807 9,659 809 8,486 769

5,267 6,019 6,589

851 1,039 853

3,046 4,609 5,307

368 270 333

c 14,057 14,057 14,057
D =B+C 19,324 20,076 20,646
E =A*D 29.077 29,735 29,132
0 0 0
0 0 0
0 0 0
97 139 130

47 64 51

144 203 181

E 28.933 29.532 28.951




440 671 694

93 132 123
0.3% 0.4% 0.4%
65 15 44,012 41,716
308 308 309
248 308 309
15,000 15,000 15,000
13,294 16,363 17,584




| 1640010 004

0 0 2,480 78 837 26

0 0 0 0 0 0

0 0 0 0 0 0

0 0 2,480 78 837 26

0 3,503 688

0 3,503 688

0 0 0

0 0 0

C 0 0 0
D =B+C 0 3,503 688
£ =A*D 0 5,983 1,525
0 1,751 343

0 0 0

0 0 0

0 0 0

0 0 0

0 1,751 343

E 0 4,232 1,182




- 1 1
- 0 0
0.0% 0.0% 0.0%
0 4,232,400 1,182,200
- 2 2
- 1 3
- 63.5 61.4
- 61.4 55.1




| 1640025 001
176,000 50

20,995 650 20,670 650 20,930 650
0 0 0 0 0 0
0 0 0 0 0 0
20,995 650 20,670 650 20,930 650
694 818 1,060
0 0 0
429 546 576
265 272 484
c 0 0 0
D =B+C 694 818 1,060
£ =AD 21,689 21,488 21,990
0 0 0
0 0 0
0 0 0
0 0 0
428 492 573
428 492 573
E o 20,996 SHrEE




514 512 582

0 0 0

0.0% 0.0% 0.0%
41,364 41,008 36,799
170,000 173,800 176,000
170,000 173,800 176,000
150 150 70

61 75 88

500




| 1640025 002
2
1/2 40
12,597 390 12,402 390 12,558 390
0 0 0 0 0 0
0 0 0 0 0 0
12,597 390 12,402 390 12,558 390
400 800 400
400 800 400
0 0 0
0 0 0
c 0 0 0
D =B+C 400 800 400
£ =AD 12,997 13,202 12,958
0 0 0
133 333 200
0 0 0
0 0 0
0 0 0
133 333 200
E 12,864 12,869 12,758




1 2 1

0 0 0

0.0% 0.0% 0.0%
12,864,000 6,434,500 12,758,000
8 8 3

1 2 1

8 8 3

1 2 1




| 1640025 003
150

12,597 390 12,402 390 12,558 390
0 0 0 0 0 0
0 0 0 0 0 0
12,597 390 12,402 390 12,558 390
1,154 158 352
1,154 158 352
0 0 0
0 0 0
c 0 0 0
D =B+C 1,154 158 352
£ =AD 13,751 12,560 12,910
0 0 0
40 51 116
0 0 0
0 0 0
0 0 0
40 51 116
E 13711 12,509 12,794




2 3 4
0 0 0

0.0% 0.0% 0.0%
6,855,500 4,169,667 3,198,500
- 5 5

_ 3 4

- 10 5

. 3 4




| 1640025 004
16,796 520 24,804 780 16,744 520
0 0 0 0 0 0
0 0 0 0 0 0
16,796 520 24,804 780 16,744 520
0 2.058 0
0 2,058 0
0 0 0
0 0 0
c 0 0 0
D =B+C 0 2,058 0
£ =AD 16,796 26,862 16,744
0 0 0
0 646 0
0 0 0
0 0 0
0 0 0
0 646 0
E 16,796 26,216 16,744




0 0 0
0.0% 0.0% 0.0%
0 0 0
2 2 2
0 0 0
- 1 0
- 1 0




| 1640025 005
1/2 50

16,796 520 16,536 520 16,744 520
0 0 0 0 0 0
0 0 0 0 0 0
16,796 520 16,536 520 16,744 520
6,853 7,771 7,843
6,853 7,771 7,843
0 0 0
0 0 0
c 0 0 0
D =B+C 6,853 T 7,843
E =A*D 23.649 24,307 24,587
2,926 2,771 3,262
1,963 2,498 2,288
0 0 0
0 0 0
0 0 0
4,889 5,269 5,550
E 18,760 19,038 19,037




14 17 17

0 0 0

0.0% 0.0% 0.0%
1,340,000 1,119,882 1,119,824
10 15 17

14 17 17

10 15 17

14 17 17




| 1640040 001
56 5 31
80
226 7 223 7 225 7
0 0 0 0 0 0
0 0 0 0 0 0
226 7 223 7 225 7
3,264 2,980 2,412
3,264 2,980 2,412
0 0 0
0 0 0
C 0 0 0
D =B+C 3,264 2,980 20
E =AD 3,490 3,203 2,687
1,631 1,488 1,205
815 745 603
0 0 0
0 0 0
0 0 0
2,446 e 1,808
E 1,044 970 829




69 63 51

0 0 0

0.0% 0.0% 0.0%
15,132 15,390 16,263
80 80 80

69 63 51




| 1640040 002
56 5 31

2/3
388 12 191 6 97 3
0 0 0 0 0 0
0 0 0 0 0 0
388 12 191 6 97 3
2,172 6,112 2,000
2,172 6,112 2,000
0 0 0
0 0 0
c 0 0 0
D =B+C T 6,112 2,000
E =AD 2,560 6,303 2,097
1,086 3,056 1,000
543 1,528 500
0 0 0
0 0 0
0 0 0
1,629 4,584 1,500
E 931 1,719 597




4 2 1

0 0 0

0.0% 0.0% 0.0%
232,650 859,400 596,600
2 2 3

4 2 1

2/3




003 |

1640040

56 5 31

2/3

4/9

161

161

161

161

157

159

158

159

65

65

65

65

B+C

D

E =A+D




0 0 0

0 0 0

0.0% 0.0% 0.0%

0 0 0

2 2 2

0 0 0
4/9 2/3




1640040 004
56 5 31
1.0 120 120 60
0.7 120 120 60
2713 84 572 18 1382 42
0 0 0 0 0 0
0 0 0 0 0 0
2 713 84 572 18 1352 42
12,661 3,300 6,647
12,661 3,300 6,647
0 0 0
0 0 0
c 0 0 0
D =B+C 12,661 3,300 6,647
E =A*D 15,374 3,872 7,999
4,527 1,500 2,627
4,067 900 2,010
0 0 0
0 0 0
0 0 0
8,594 2.400 4,637
E 6,780 e 3,362




14 3 7
0 0 0
0.0% 0.0% 0.0%
484,300 490,800 480,343
12 13 13
14 3 7
12 13 13
14 3 7
X X
28 61
40
6




| | 1640040 005
56 5 31
23 2/3 11/15
1/3 50,200 7/ 51,200 /
65 2 159 5 161 5
A 0 0 0 0 0 0
B 0 0 0 0 0 0
65 2 159 5 161 5
0 0 0
0 0 0
0 0 0
0 0 0
c 0 0
D =B+C 0
£ A 65 159 161
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 65 159 161




0 0 0
0 0 0
0.0% 0.0% 0.0%
0 0 0
1 0 -
0 0 -
1 0 -
0 0 -
23 2/3 11/15 1/3




| 1640040 006
10/10
65 2 64 2 64 2
0 0 0 0 0 0
0 0 0 0 0 0
65 2 64 2 64 2
449 290 140
449 290 140
0 0 0
0 0 0
C 0 0 0
D =B+C 449 290 140
E =A+D 514 354 204
449 290 140
0 0 0
0 0 0
0 0 0
0 0 0
449 290 140
E 65 64 64




6 5 2

0 0 0

0.0% 0.0% 0.0%
10,767 12 720 32,200
5 5 5

6 5 2

5 5 5

6 5 2




| 1640040 007
2/3

65 2 64 2 64 2
0 0 0 0 0 0
0 0 0 0 0 0

65 2 64 2 64 2
2,000 2,000 2,000
2,000 2,000 2,000
0 0 0
0 0 0
c 0 0 0
D =B+C 2,000 2,000 2,000
& AP 2,065 2,064 2,064
1,000 1,000 1,000
0 0 0
0 0 0
0 0 0
0 0 0
1,000 1,000 1,000
E 1,065 1,064 1,064




1 1 1

0 0 0

0.0% 0.0% 0.0%
1,064,600 1,063,600 1,064,400
1 1 2

1 1 1

1 1 2

1 1 1




| 1640040 008
8,000

194 6 636 20 644 20
0 0 0 0 0 0

10 2 80 16 83 16

203 8 716 36 727 36

557 746 797

243 68 77
314 0 0

0 625 672
C 0 0 0
D =B+C 557 746 797
£ =AD 760 1,462 1,524
0 299 398
0 0 0
0 0 0
0 0 0
0 0 0

0 299 398

E 760 1,163 1,126




0 0 0
0.0% 0.0% 0.0%
0 0 0
1 1 1
1 1 1
30 30 30
22 36 230
o
4 6

40%




009 |

1640040

56 5 31

27

90

3

3

32

32

64

64

270

270

270

334

334

65

65

270

270

270

335

335

B+C

D

E =A+D




1 1 0

0 0 0

0.0% 0.0% 0.0%
334,600 333,600 0
1 1 1

1 1 0

1 1 1

1 1 0

90

27




| | 1640040 010
60cm

x 10,000 1/2 30
6,977 216 4,293 135 4,540 141
0 0 0 0 0 0
0 0 0 0 0 0
6,977 216 4,293 135 4,540 141
5,728 3,498 3,973
5,728 3,498 3,973
0 0 0
0 0 0
c 0 0 0
D =B+C 5,728 3,498 3,973
£ =AD 12,705 7,791 8,513
2,482 1,860 1,486
639 280 269
0 0 0
0 0 0
0 0 0
g 2,140 1,755
E 9,584 5,651 6,758




72 45 47
0 0 0

0.0% 0.0% 0.0%
133,108 125,578 143,791
80 80 70

72 45 47

80 80 70

72 45 47

30




| 1640040 011
1

969 30 954 30 966 30
0 0 0 0 0 0
0 0 0 0 0 0
969 30 954 30 966 30
649 599 593
591 598 587
2 1 6
56 0 0
c 0 0 0
D =B+C 649 599 593
& AP 1,618 1,553 1,559
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 1,618 1,553 1,559




50 50 50
0 0 0

0.0% 0.0% 0.0%
32,360 31,060 31,180
600 600 600
614 697 697

60 42 54




| 1640060 001
3, 31

18-7
840 26 827 26 837 26
0 0 0 0 0 0
0 0 0 0 0 0
840 26 827 26 837 26
181,783 205,927 186,573
181,783 205,927 186,573
0 0 0
0 0 0
c 0 0 0
D =B+C 181,783 205,927 186,573
E =A*D 182,623 206,754 187,410
73,569 167,400 91,391
0 0 0
108,200 38,500 95,100
854 854 909
0 0 0
182,623 206,754 187,400
E 0 0 10




2,317 2,231 2,173

0 0 0

0.0% 0.0% 0.0%

0 0 0

58 60 62

58 60 62

-1.8 -1.4 -2.9
-1.4 -2.9 -1.9




1640060 002

12 - 38
8,398 260 8,268 260 8,372 260

0 0 0 0 0 0

0 0 0 0 0 0

8,398 260 8,268 260 837 260

600 1,500 2,700

600 1,500 2,700

0 0 0

0 0 0

c 0 0 0
D =B+C 600 1,500 2,700
£ =AD 8,098 9,768 11072

0 0 0

0 0 0

0 0 0

8,098 9,768 10,968

0 0 0

8,998 9,768 10,968

E 0 0 104




2,317 2,231 2,173

0 0 0

0.0% 0.0% 0.0%

0 0 0

14 12 38

14 12 38

2 5 5

2 5 9




